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H2 SUS ETMY -- Open Loop Gain TFs (YAW)

*T0=07/07/2012 20:55:43 Avg=10 BW=0.0117187

2012-07-07 Open Loop Gain = - G = Y IN1 / Y IN2 (Loops Closed, With Offset)

2012-07-07 Open Loop Gain = - G = Y IN1 / Y IN2 (Loops Closed, With Offset)
2012-06-29 Open Loop Gain = - G = Y IN1 / Y EXC (Loops Open, No Offset)

H2 SUS ETMY -- Open Loop Gain TFs (YAW)
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Open Loop Gain = - G = IN1/IN2 (or IN1/EXC for Loops Open Meas’t Only)

*T0=07/07/2012 19:05:34 Avg=10 BW=0.0117187

Open Loop Gain = - G = IN1/IN2 (or IN1/EXC for Loops Open Meas’t Only)
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Coherence

*T0=29/06/2012 15:17:51 Avg=10 BW=0.0117187

Y IN1 / Y IN2 (no offset, closed)
Y IN1 / Y IN2 (w/ offset, closed)
Y IN1 / Y EXC (no offset, closed)
L IN1 / Y EXC (no offset, closed)
Y IN1 / Y EXC (w/ offset, closed)
L IN1 / Y EXC (w/ offset, closed)
Y IN1/ Y EXC (no offset, open)

Coherence
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Closed Loop Gain TFs = - G / (1+G) = IN1/EXC (for Loops Closed Meas’ts Only)

*T0=07/07/2012 20:55:43 Avg=10 BW=0.0117187

Y IN1 / Y EXC (no offset, closed)
L IN1 / Y EXC (no offset, closed)
Y IN1 / Y EXC (w/ offset, closed)
L IN1 / Y EXC (w/ offset, closed)

Closed Loop Gain TFs = - G / (1+G) = IN1/EXC (for Loops Closed Meas’ts Only)


